Tuesday 2nd February 2021 – Maths

I thought we could use today to revise our Roman Numerals. Begin your maths time with the times tables square then move on to fill in a 100 square with Roman Numerals. Choose square, a, b or c. C being the hardest. There are some problems for those of you that are super confident!
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1) Augustus and Caesar are going to a see a theatre show in Rome. The theatre can seat CMXCIX people.
DCXXXIII people have arrived. How many seats are still empty? Show your working and write your

2)

answer in Roman numerals.

Complete both addition pyramids
by adding the two numbers in the
boxes below and writing the sum
in the box above. Complete the
pyramid in Roman numerals.
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1) CMXCIX - DEXXXIN = CCCLXVI

999 - 633 = 366
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